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Course: sph 3u1

Unit: electricity

Lesson 5  Title: Series and Parallel Circuits; Kirchoff’s Laws

Preliminaries: 6 scientist assignment [not James Joule]

Lesson:

A series circuit has only one path for electricity (only one loop). All of the electrons have to follow the same path and go through each device in turn.

<example: AC generator, motor, light bulb, fuse, resistor>

A parallel circuit has more than one path (branch) (more than one loop).  Some electrons go one way, some go another. 

<example: battery, two light bulbs>

Kirchoff’s laws 
read page 449. Read the three laws.

Current: the current going into the junction = the current going out of the junction (why? because you can’t create or destroy electrons)
Current in series is equal. Currents in parallel add up.

( Currents work like marbles in pipes ( If you have 200 marbles going through a pipe, you can’t make them appear or disappear. The same current goes through all devices in series. When it gets to a junction, it splits up. If 70 marbles go one way, then the other way must have 170 marbles.









        I0 =  200mA





I3 = 70 mA




Voltage: 

Voltages in series add up. Voltages in parallel are equal.
( voltages work like ski hills (










How far down does the run H3 go? 50 m.
How far down is the drop that H1 goes? 150 m. How do you know?

Homework: 
p 450 #2,3

p 451 #1,2,3,4,8
ski lift:�up 120 m





H1=





H2=50m





H3=








